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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

T
—e— dFvI :
0.04 4 —@— dFVO :
1
1
0.02 - |
1
1
0.00 I GHI—GB—GED——)— B —ED 00— b —Gb Gl —0 G b -G Gb o0 b —ab G —an-
1
1
0. 02 - :
1
1
0. 04 - :
1
T T T T T T T T T I
27.5 30.0 32.5 35.0 37.5 40.0 42.5 45.0 47.5
day
3007 ./-—-—..—J—"\./.\- !
am—o—co :
275 - |
1
1
250 - 1
1
1
225 - :
1
1
200 - :
1
1
175 I
1
—e— DUC :
150 - I
27.5 30.0 32.5 35.0 37.5 40.0 42.5 45.0 47.5
day
T
./-—-—0.—;_-\./.\- '
an o a» :
180 - !
1
1
1
160 - |
1
1
140 |
1
1
1
120 i
1
1
1
T T T T T T T T T
27.5 30.0 32.5 35.0 37.5 40.0 42.5 45.0 47.5
day
T
1
0. 6505 :
1
1
0. 6500 :
1
0. 6495 :
a»——e - i
1
0. 6490 :
1
0. 6485 - :
1
1
0.6480 1 —@— FRC :
1
27.5 30.0 32.5 35.0 37.5 40.0 42.5 45.0 47.5

day




Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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29t1]2058.0 (%) 1050. 0 ZHKEC: 2080.0, PH: 6.0
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#[El/&HECE (2660.0 vs 4210.0) 1w &S

153.0), AlEEHT—@ % XA HS
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13:15 300 150.0 | =| 1Rige13:15 Bz (RBEEE)
14:20 300 150.0 (2 =| 1BRi%e14:20 Bz (kBFERSE)
23t1]2100.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (195.0 :

ZRIALBRERE153.0 ml.

HEERECE (2660. 0 vs 4135.0) FE

153.0), AlEEHT—@ % XA HS
AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E
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